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Directions:

There are THREE questions on this paper

Marks have been allocated for each question

Answer each questions on a separate page

Show all necessary working

Marks may not be awarded for careless or badly arranged work

QUESTION 1 (Start a new page)

b)

0

1.35%0. 479

Calculate ———————— , using scientific notation correct to
V3 (29 3

two significant figures.

-1

1 —_
Simplify (—;7-)3 x [6—94) ’

Express 0-28 as a rational number in its simplest form.

Factorise completely over the field of real numbers:

3m+3y+m?-y?

G  x*-1

8—(x—-1)

3 3_ 4.2
Show that Zx +27 2z 32x +9x is rational.
6x* +21x+9 2x°+x
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QUESTION 2 (Start a new page)

&
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2 -

in the form a+«/3.

a) Express

&

b) Show that 1—~+/3 is a solution of the equation x* —2x—2=0.

Solve each of the following:

()  Solve 2(3a—4)~(a+2)=8a+5
Gy 27 =c
i) x-1>5

In a rectangle of area 4 cm? the width is x cm and the length
is 2 cm longer than the width.

® Show that x> +2x—4=0.
“6i)° Find the exact dimensions of the rectangle in simplest form.

Solve the following simultaneously,

2x—y-3=0
y=x2—4x+5

Marks

QUESTION 3 (Start a new page) Marks

a) For the following function, g(x) =

L +1 4
x—4 -

(i)  State the domain and range.

(i)  Show whether the function is even, odd or neither.

Sketch y =~v16~x* . 4

(i)  Shade the region defined by: .
{(x,y): y<~16-x7 } N {(x,y): y= M} . Hence,

calculate the exact area of the shaded region giving your answer in

terms of «.

? 7 ;

B 2 D < C
AABC is aright-angled triangle at A. ADAC is a right angled
triangle at D.
@) Prove ABAC /// AADC. 3
(i) Given that BD =3cm, DC=5 ¢cm and AC=x cm, 2

show that x = 2«/% cm.
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